
Q3-05.13

Vejecelle-Load cell-Wägezelle



Q3-05.13



Q3-05.13

-3-

Page -5-Page -4- Page -6-

4.90.50434.90.50564.90.5056



Q3-05.13

-4-

M16x120

4.90.5056

4.90.0640

4.90.5056

M6x25

M8x25

M8x20

Expansion bolt M16x150



Q3-05.13

-5-

M16x120

4.90.5056

4.90.5056

M6x25

M8x25

M8x20

4.90.0640 Expansion bolt M16x150



Q3-05.13

-6-

M16x120

4.90.5043

4.90.5043

4.91.20004.90.2000

M10x20

M6x25

M8x25

Expansion bolt M16x150



Q3-05.13

7

M16

135 mm

100 Nm

M16

125 mm



Q3-05.13

M16x120

Expansion bolt M16x150

M6x25

M8x25

4.90.5055

4.90.5049


